Computation main.35

broadcast.8
dimensions={}
£32[1000]
operand = 32[] 1

dot.15

lhs_contracting dims={}, rhs contracting dims={}
£32[1,1000]{1,0}
operand 0 = f32[1] {1}

% broadcast.6
Parameter 0 reshape.16 dimensions={}
32[] £32[1000,1]{1,0} £32[1000,1]{1,0}

operand = {32[] 1

0 Lo

0/ 1 gather.17 gather.18
multiolv. 13 offset dims={1}, collapsed slice dims={0}, start index map={0}, index vector dim=1 offset dims={1}, collapsed slice dims={0}, start index map={0}, index vector dim=1
BS[]Y slice sizes={1,1} slice_sizes={1,1}
£32[777,11{1,0} £32[777,11{1,0}
operand 1 = constant.3 s32[777,1] operand 1 = constant.2 s32[777,1]
I J]O
dig‘;‘[’jl“ multiple19 <7
operand 0 = f32[] 1 [777,1111,03
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reduce.24
broadcast.25 Subcomputation: add
dimensions={} dimensions={1}
£32[777] £32[777]

operand 1 = f32[] 0

broadcast.10
multiply.26 dimensions={}
£32[777] £32[777]
operand f32[] 121

mult1ply.27
£32[777]

o

reduce.32
Subcomputation: add
dimensions={0}
f32[]
operand 1 = f32[] 0

:

negate.33
32[]
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tuple.34
(£32[])




